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A STORY OF UNITS Lesson 3 Application Problem -~

Hudson is choosing a seat in art class. He scans the room and sees a 4-person table with 1 bucket of
art supplies, a 6-person table with 2 buckets of supplies, and a 5-person table with 2 buckets of

supplies. Which table should Hudson choose if he wants the largest share of art supplies? Support

your answer with pictures. _;k
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Hudson should <t ad He D table witht

2 bucket(s).
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A STORY OF UNITS

Name

1. Filtin the chart. The first one is done for you.

Lesson 3 Problem Set: Egggﬁ

Date

Standard Algorithm
Division Unit Forms Improper Mixed ' .
Expression Fraction Numbers (Write your answer in whole numbers and
fractional units. Then check.)
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